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Like the Crest of a Peacock So is Mathematics at the Head of All Knowledge
Questions 1:

At a certain time in a deer park, the number of heads and the number of legs of deer and human
visitors were counted, and it was found there were 3 heads & 132 legs. Find the number of deer

and human visitors in the park.
Answer:
Let the no. of deer’s be
And no. of humans be y
ASQ:

x+y=39...()

4x +2y=132...(2)
Multiply (1) and (2)
On solving, we get ...

x =27andy = 12

.. No.of deers = 27and No.of humans = 12
Question 2:

Solve for &,

x+y—8 x+2y—-14 3x+y-—12

(a) 2 B 3 11

Answer:

x+y—8 x+2y—-14 3x+y-—12

2 B 3 11
x+y—-8 x+2y—-14
2 - 3

On solving, we will get .... y=6

x+y—-8 x-2 x+2y—14

2 2 3
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On solving, we will get ...
x=2
(b) 7y +3)2(x+2)=14,4(y,2) + (x,3) =2
Answer:
Ty+3)2(x+2)=14...(1)
4(y-2)+3(x-3)=2...(2)
Form (1) 7y+21 -2x—-4=14
On solving we will get ...
2x—7y—=3=0...(3)
From (2) 4y—-8+3x—-9=2
On solving we will get ...
3x+4y—-19=0...4)
2x—Ty—3
3x +4y—19
Substitute this, to get y=1 and x=5
Sox=D5andy=1
(c) (a+2b)x+QRab)y=2,(a2b)x+Q2a+b)y=3
Answer:
2ax +4ay =y,
We get 4bx — 2by = —1

2ax + 4ay = 54bx — 2by = —1

106+ a

Solve this, to get y =
8 Y= oab

Similarly, we can solve for

X y X y
d —+>-=a+b -+ >==2a#0,b#0
g tpTetbh gty =naf 007
Answer
X y
DRI A b
a+b a—+
X y_
S+ =2
xb+ ya
= b
ab a
b2 2
xb” + ya _5
a’h?
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On solving, we get ... x = a’andy = b°
(e). 2* +3V =17,2"73* =5
Answer:

2¥ +3 = 17,2723 =5

Let »» beaand » beb

2 +3 =17
a+b=17...(1)
2x+2.3y+1 =5

4a-3b=5...(2)
On solving, we get .... a=38
From (1)
a+b=-17
Sb=9,a=8

=> x=3,y=221

4x -3 4
O 2222 -2 paX
7x — 6y 13 y
Answer:
4x -3y i
Tx —6y 13
On dividing by , we get * _ %
y

(g) 41x +53y =135,53x+ 41y = 147
Answer:

41x +53y =135,53x + 41y = 147
And the two equations:
Solve it,to get ... x+y=3...(1)
Subtract:
Solveit,to get... x—y=1...(2)
From (1) and (2)

x+y=3

x—y=1

On solving we get .... x =2andy = 1
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